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CHAPTER 10

QUESTIONS

3.
Current liabilities are claims arising from operations that must be satisfied with current assets within 1 operating cycle or within 1 year, whichever is longer. Non-operating cycle claims are classified as current if they must be paid within 1 year from the balance sheet date.


Noncurrent liabilities are liabilities whose liquidation will not require the use of current assets to satisfy the obligation within 1 year.

18.
Avoiding the inclusion of debt on the balance sheet through the use of off-balance-sheet financing may allow a company to borrow more than otherwise possible due to debt-limit restrictions. Also, a strong appearance of a company’s financial position usually enables it to borrow at a lower cost. Another possible reason is that companies wish to understate liabilities because inflation has, in effect, understated its assets.


One of the main problems with off-balance-sheet financing is that many investors and lenders aren’t able to see through the off-balance-sheet borrowing tactics and thereby make ill-informed decisions. There is also concern that as these methods of financing gain popularity, the amount of total corporate debt is reaching unhealthy proportions.

PRACTICE EXERCISES

PRACTICE 10(1
WORKING CAPITAL AND CURRENT RATIO

Current assets:


Cash
$   400


Accounts receivable
  1,750

Total
$2,150
Current liabilities:


Accounts payable
$1,100


Accrued wages payable
250


Deferred sales revenue
900


Bonds payable (to be repaid in 6 months)
  1,000

Total
$3,250
Working capital = Current assets – Current liabilities = $2,150 – $3,250 = ($1,100)

Current ratio = Current assets/Current liabilities = $2,150/$3,250 = 0.66

PRACTICE 10(2
SHORT-TERM OBLIGATIONS EXPECTED TO BE REFINANCED


Current Liabilities
Noncurrent Liabilities

Loan A
$10,000
$         0


Loan B
15,000
0


Loan C
    2,500
  17,500

Total
$27,500
$17,500
PRACTICE 10(10
BOND ISSUANCE BETWEEN INTEREST DATES

Cash

100,750



Bonds Payable

100,000



Interest Payable [$100,000 ( 0.09  ( (1/12)]

750

PRACTICE 10(17
DEBT-TO-EQUITY RATIO

1.
“Debt” = All liabilities

Debt-to-equity ratio = $120,000/$90,000 = 1.33

2.
“Debt” = All interest-bearing debt

Debt-to-equity ratio = ($10,000 + $70,000)/$90,000 = 0.89

3.
“Debt” = Long-term, interest-bearing debt

Debt-to-equity ratio = $70,000/$90,000 = 0.78

10–44.

1.
Present value of bond maturity value:



Maturity value of bonds after 10 years or 20 semiannual periods

  $900,000



Effective interest rate—8% per year, or 4% per semiannual period:




PVn
=
$900,000 (Table ll 
[image: image1.wmf]20

4%

)






=
$900,000(0.4564)






=
$410,760


or with a business calculator:



FV = $900,000; N = 20; I = 4% (  PV = $410,748


Present value of 20 interest payments:



Semiannual payment, 3½% of $900,000

$31,500



Effective interest rate—8% per year, or 4% per semiannual 



period:

10–44.
(Concluded)




PVn
=
$31,500(13.5903)






=
$428,094


or with a business calculator:



PMT = $31,500; N = 20; I = 4% (  PV = $428,095

Maximum amount investor should pay to earn 8%: 
$410,760 + $428,094 = $838,854
2.
Straight-Line Method:


A
B
C
D



Interest


Bond



Received
Discount
Interest
Carrying


Interest
(3½% of
Amortization
Revenue
Value


Payment
Face Value)
($61,146 ( 1/20)

(A + B)


(D + B)






$838,854


1
$31,500
$3,057
$34,557
841,911


2
31,500
3,057
34,557
844,968


Effective-Interest Method:


A
B
C
D



Interest
Interest

Bond



Received
Revenue
Discount
Carrying


Interest
(3½% of
(4% of Bond
Amortization
Value


Payment
Face Value)
Carrying Value)

(B – A)


(D + C)






$838,854


1
$31,500
$33,554*
$2,054
840,908


2
31,500
33,636†
2,136
843,044


*0.04 ( $838,854 = $33,554


†0.04 ( $840,908 = $33,636


The interest revenue recognized each period should be equal to the effective-interest revenue (effective-interest rate ( carrying value). This is accomplished by use of the effective-interest method. It is preferred over the straight-line method because it always values the investment at its present value.

10–45.

1.
a.
Amortization of Premium—Straight-Line Method:


A
B
C
D
E



Interest



Bond



Received
Premium
Interest
Unamortized
Carrying


Interest
(3½% of
Amortization
Revenue
Premium
Value


Payment
Face Value)
($850 ( 1/10)

(A – B)


(D – B)


(E – B)






$850
$20,850


1
$700
$85
$615
765
20,765


2
700
85
615
680
20,680


3
700
85
615
595
20,595


4
700
85
615
510
20,510


5
700
85
615
425
20,425


6
700
85
615
340
20,340


7
700
85
615
255
20,255


8
700
85
615
170
20,170


9
700
85
615
85
20,085


10
700
85
615
0
20,000


b.
Amortization of Premium—Effective-lnterest Method:



A
B
C
D
E



Interest
Interest


Bond



Received
Revenue
Premium
Unamortized
Carrying


Interest
(3½% of
(3% of Bond
Amortization
Premium
Value


Payment
Face Value)

Carrying Value)


(A – B)


(D – C)


(E – C)






$850
$20,850


1
$700
$626 (0.03 ( $20,850)
$74
776
20,776


2
700
623 (0.03 ( $20,776)
77
699
20,699


3
700
621 (0.03 ( $20,699)
79
620
20,620


4
700
619 (0.03 ( $20,620)
81
539
20,539


5
700
616 (0.03 ( $20,539)
84
455
20,455


6
700
614 (0.03 ( $20,455)
86
369
20,369


7
700
611 (0.03 ( $20,369)
89
280
20,280


8
700
608 (0.03 ( $20,280)
92
188
20,188


9
700
606 (0.03 ( $20,188)
94
94
20,094


10
700
606 ($700 – $94)*
94
0
20,000


*Adjusted for rounding.

10–45.
(Concluded)

2.
Allen Co. Books:



Bond Investment—Locust Sales Company

20,850



Cash


20,850



Cash

700



Bond Investment—Locust Sales Company


74



Interest Revenue


626



Cash

700



Bond Investment—Locust Sales Company


77



Interest Revenue


623


Locust Sales Co. Books:



Cash

20,850



Bonds Payable


20,000



Premium on Bonds Payable


850



Interest Expense

626



Premium on Bonds Payable

74



Cash


700



Interest Expense

623



Premium on Bonds Payable

77



Cash


700

10–49.

1.
1997


Oct.
1
Cash

2,941,140*




Discount on Bonds Payable

126,360





Bonds Payable


3,000,000





Interest Payable


67,500




*Bond proceeds

$2,873,640




Accrued interest: $3,000,000 ( 0.09 ( 3/12


67,500





$2,941,140

2.
1997


Dec.
31
Interest Expense

23,580





Interest Payable ($3,000,000 ( 0.09 ( 1/12)


22,500





Discount on Bonds Payable


1,080*




*Monthly accrual entry. Amortization of bond discount:




Life of bond issue: 9¾ years or 117 months




Amortization per month: $126,360 ÷ 117 = $1,080

10–49.  (Continued)

3.
2003


July
1
Interest Payable ($3,000,000 ( 0.09 ( 6/12)

135,000





Cash


135,000




Bonds Payable

1,000,000





Discount on Bonds Payable


17,280*





Common Stock, Par $1 (5,000 shares)


5,000





Paid-ln Capital in Excess of Par


977,720†





Conversion of bonds to stock.




*Remaining life of bonds: 48 months




$1,000,000 ÷ $3,000,000 ( $1,080 ( 48 = $17,280




†Number of shares of common stock issued in exchange for bonds:




$1,000,000 ÷ $1,000 ( 5 = 5,000 shares




Carrying value of bonds assigned to shares:





$1,000,000 – $17,280

$982,720





Less: Common stock at par: $1 ( 5,000


5,000




Paid-in capital in excess of par

$977,720
4.
2004


Dec.
31
Interest Expense

15,720





Interest Payable ($2,000,000 ( 0.09 ( 1/12)


15,000





Discount on Bonds Payable


720*




*Amortization of bond discount for December:




$2,000,000 ÷ $3,000,000 ( $1,080 = $720



 
Bonds Payable

500,000




Interest Payable

22,500




Loss on Bond Reacquisition

1,650‡




Cash


518,750*





Discount on Bonds Payable


5,400†





Reacquisition of bonds at 99¼%.




*Amount paid on bond retirement:





Bonds: $500,000 ( 0.9925

$496,250




Accrued interest:





$500,000 ( 0.09 ( 6/12


22,500



Cash paid

$518,750




†Remaining life of bonds: 30 months




$500,000 ÷ $3,000,000 ( $1,080 ( 30 = $5,400




‡Loss on bond reacquisition:





Cash paid for bonds: $500,000 ( 0.9925

$496,250





Carrying value of bonds: $500,000 – $5,400


494,600






$
1,650
10–49.  (Concluded)

5.
2005


July
1
Interest Payable ($1,500,000 ( 0.09 ( 6/12)

67,500





Cash


67,500




Cash ($4,000,000 ( 0.97)

3,880,000




Discount on Bonds Payable

120,000





Bonds Payable


4,000,000




Bonds Payable

1,500,000




Loss on Bond Retirement

12,960*





Cash


1,500,000





Discount on Bonds Payable


12,960




*Loss on bond retirement:





Cash paid for bonds


$1,500,000





Carrying value of bonds: par value

$1,500,000





Less bond discount: 





$1,500,000 ÷ $3,000,000 ( $1,080 ( 24 





(remaining months—life of issue)


12,960

1,487,040




Loss


$
12,960
10–51.

2002

May
1
Bond Investment—Extel Corp.

38,800



Interest Receivable.

600




Cash


39,400*



*Cost to acquire bonds: $40,000 ( 0.97

$38,800



Accrued interest, March 1–May 1:




$40,000 ( 0.09 ( 2/12


600




$39,400

Sept.
1
Bond Investment—Extel Corp.

120*



Cash

1,800




Interest Revenue


1,320




Interest Receivable


600



*Amortization: Discount on bonds, $40,000 – $38,800 = $1,200



Life of bonds for investor, May 1, 2002 to September 1, 2005 = 40 months



Amortization: May 1 to September 1 = 4 months; 4/40 ( $1,200 = $120

Dec.
31
Interest Receivable

1,200




Interest Revenue ($40,000 ( 0.09 ( 4/12).


1,200



Bond Investment—Extel Corp.

120




Interest Revenue ($30 amortization per month ( 4




months)


120

(Note: To simplify this problem, it is assumed that Desert is ignoring year-to-year market value changes in accounting for this bond investment. As discussed in Chapter 14, this is the accounting procedure used when an investment is classified as held to maturity.) 

10–51.
(Continued)

2003

Mar.
1
Bond Investment—Extel Corp.

60*



Cash

1,800




Interest Revenue


660




Interest Receivable


1,200



*$30 amortization per month ( 2 months

May
1
Bond Investment—Extel Corp.

18*




Interest Revenue


18



*Amortization of discount on $12,000 bonds sold: 



Mar. 1–May 1: 2/40 ( $12,000 ÷ $40,000 ( $1,200 = $18



Cash

12,540




Bond Investment—Extel Corp.


11,748




Gain on Sale of Bonds


612*




Interest Revenue


180†


*Sold $12,000 face value bonds at 103


$12,360



Original cost, $12,000 ( 0.97

$11,640



Amortization, 2002, $12,000 ÷ $40,000 ( $240

$72



Amortization, 2003, $12,000 ÷ $40,000 ( $60 =




$18 + $18

36

108


Carrying value of bonds sold



11,748


Gain on sale of bonds


$
612



†Accrued interest, Mar. 1–May 1: $12,000 ( 0.09 ( 2/12 = $180

Sept.
1
Bond Investment—Extel Corp.

126*



Cash

1,260




Interest Revenue


1,386



*Amortization of discount on bonds ($28,000 face value) for 2003:



6/40 ( $28,000 ÷ $40,000 ( $1,200 = $126, or $21 per month.

2003

Dec.
31
Interest Receivable

840




Interest Revenue ($28,000 ( 0.09 ( 4/12)


840



Bond Investment—Extel Corp.

84




Interest Revenue ($21 per month ( 4 months)


84

2004

Mar.
1
Bond Investment—Extel Corp.

42



Cash

1,260




Interest Revenue


462




Interest Receivable


840

July
1
Bond Investment—Extel Corp.

48*




Interest Revenue


48



*Amortization of discount on $16,000 bonds exchanged



(March 1–July 1):




4/40 ( $16,000 ÷ $40,000 ( $1,200 = $48

10–51.
(Concluded)

July
1
Cash

480



Investment in Extel Corp. Common Stock

18,000




Bond Investment—Extel Corp.


15,832*




Gain on Exchange of Bonds


2,168*




Interest Revenue


480†


*Received 2,250 shares valued at $8


$18,000




Carrying value of bonds exchanged:




Original cost: $16,000 ( 0.97

$15,520




Amortization, 2002: $16,000 ÷ $40,000 ( $240

$
96




Amortization, 2003: $16,000 ÷ $28,000 ( $252


144




Amortization for 2004 (1/2 ( $144)


72

312



Carrying value of bonds exchanged



15,832


Gain on exchange


$
2,168



†Interest, $16,000 for 4 months (March 1–July 1):




$16,000 ( 0.09 ( 4/12 = $480

Sept.
1
Bond Investment—Extel Corp.

54*



Cash

540




Interest Revenue


594



*Amortization of discount on bonds, $12,000 for 2004:



6/40 ( $12,000 ÷ $40,000 ( $1,200 = $54, or $9 per month.

Dec.
31
Interest Receivable

360




Interest Revenue ($12,000 ( 0.09 ( 4/12)


360



Bond Investment—Extel Corp.

36




Interest Revenue ($9 per month ( 4 months)


36

2005

Mar.
1
Bond Investment—Extel Corp.

18*



Cash

540




Interest Revenue


198




Interest Receivable


360



*Amortization of discount on bonds of $12,000:



($9 per month ( 2 months)

Sept.
1
Bond Investment—Extel Corp.

54




Interest Revenue ($9 per month ( 6 months)


54



Cash

12,540*




Bond Investment—Extel Corp.


12,000




Interest Revenue


540



*Proceeds on bond redemption:




Face value of bonds

$12,000




Interest: $12,000 ( 0.09 ( 6/12


540



Total cash received

$12,540
10–56.

2005

Aug.
1
Bonds Payable

100,000




Common Stock ($1 par)


700




Discount on Bonds Payable


1,070*




Paid-ln Capital in Excess of Par


98,230†




Conversion of bonds to stock.



*Amount to be amortized over 120 months at $100.00 per month

$12,000



Less: Amortization for 13 months to July 31, 2005


1,300


Unamortized balance on July 31, 2005

$10,700


Write-off of unamortized bond discount:




[image: image2.wmf]$

,

$

,

,

100

000

1

000

000

( $10,700 = $1,070



†Paid-ln Capital in Excess of Par: $100,000 – ($700 + $1,070) = $98,230



Interest Payable

750




Cash


750





To record payment of interest on bonds converted: 





$100,000 at 9% for 1 month.


31
Interest Expense

90*




Discount on Bonds Payable


90





Amortization of bond discount for August.



*Unamortized balance, July 31, 2005

$10,700



Less: Write-off of bond discount on August 1, 2005


1,070


Unamortized balance, August 1, 2005

$
9,630


Amortization of bond discount: $9,630 ÷ 107 remaining months = $90



Interest Expense ($900,000 ( 0.09 ( 1/12)

6,750




Interest Payable


6,750





To record accrued interest for August on 
$900,000 at 9%.

Dec.
31
Interest Expense

90




Discount on Bonds Payable


90





Amortization of bond discount for December.



Interest Expense

6,750




Interest Payable


6,750





To record accrued interest for December.



Retained Earnings

87,400*




Interest Expense


87,400





To close interest expense account.



*Total amortization in 2005:




7 months ( $100

$
700




5 months ( $90


450



Total amortization charged to interest expense

$1,150

10–56.
(Concluded)



Interest on bonds:




0.09 ( $1,000,000 = $90,000 ( 1/12 = $7,500 per month




0.09 ( $900,000 = $81,000 ( 1/12 = $6,750 per month



Total interest paid in 2005:




7 months ( $7,500

$52,500




5 months ( $6,750


33,750





$86,250



Total debits to interest expense:




Amortization of discount

$
1,150




Interest paid


86,250





$87,400
443
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